Efficiency vs dr

cy
o
[ B
)
LA LARLE RRRLE LRRRS

1.0 i

o
T —=— DQM_original_1000evt
x .| —— DQM_fitted4_1000evt

i
T

f i " HtlE LAL:

1073 1072 10t 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0'02
00.018F
E F
00).016}
q -
£.014F
> -
®.012F
C -
L 0.01
= r
©.008[
0.006F
0.004F
0.002F

1.0

Ratio

107 1072 107
AR(TP, jét)

Efficiency vs pu

50.05
o
©.045
30.04
(]
‘©.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

Jo| =PI |

.U

Ratio

T
4
+
.
+

FES

*>

093630 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


